



GRAND SLAM HISTORY

Keith Miller Greg Legg Floyd Rayford April 19 @ Syracuse May 15 vs Oklahoma City June 24 vs Tidewater (PH)

1990

Steve Stanicek John Gibbons Kelly Heath Steve Stanicek May 1 @ Richmond July 27 @ Indianapolis August 21 @ Pawtucket August 22 @ Pawtucket

1991

Sil Campusano Sil Campusano April 27 @ Columbus June 10 @ Columbus

1002

Steve Scarsone Gary Alexander Rick Schu Ruben Amaro Gary Alexander

April 11 vs Syracuse June 3 @ Syracuse July 5 vs Syracuse August 7 @ Pawtucket September 7 @ Columbus

1993

Victor Rodriguez

May 18 vs Ottawa

1994 None

1995

Phil Geisler August 12 vs Pawtucket

1996

Gene Schall David Doster Wendell Magee April 27 @ Rochester May 22 @ Norfolk August 3 vs Charlotte

Mike Robertson Tony Barron Wendell Magee Jr. Mike Robertson

May 1 @ Columbus May 16 @ Syracuse June 28 vs Pawtucket August 10 @ Syracuse

1002

Doug Angeli Gary Bennett June 8 @ Charlotte August 16 @ Buffalo

1999

Torey Lovullo Billy McMillon May 13 @ Norfolk May 23 vs. Durham

2000

Gene Schall Tomas Perez David Doster Jimmy Rollins April 30 @ Syracuse May 12 vs. Richmond June 19 @ Toledo August 23 vs. Buffalo

2001

Gene Schall Iason Michaels May 25 vs. Richmond June 14 @ Durham

2002

David Doster

Sept. 2, 2002 @ Pawtucket

2003

Jeremy Salazar Travis Chapman June 22 vs. Durham August 19 @ Buffalo

Michel Hernandez Jorge Padilla Mark Smith Shawn Wooten

June 8, 2004 @ Indianapolis June 11, 2004 @ Louisville June 14, 2004 @ Louisville August 13, 2004 @ Rochester 2005

Shane Victorino Chris Coste Ryan Howard Ánthony Medrano Jorge Padilla

May 10 vs. Pawtucket May 15 @ Rochester

May 28 @ Richmond

August 10 @ Syracuse

August 15 @ Louisville

July 14, 2006 vs. Toledo

July 28, 2006 vs. Richmond

June 18, 2007 @ Durham

July 22, 2007 vs. Charlotte

May 4, 2008 vs. Durham

August 30 vs. Pawtucket

July 3 @ Pawtucket

May 17 vs. Charlotte

July 21 @ Gwinnett

May 28 @ Louisville

July 22 @ Gwinnett

June 2 vs. Pawtucket

July 31 vs. Columbus

August 31 @ Buffalo

May 19 @ Louisville

June 30 @ Buffalo

July 20 @ Charlotte

August 7 vs. Syracuse

May 15 vs. Pawtucket

May 11 vs. Rochester

July 27 vs. Gwinnett

July 28 @ Charlotte

June 19, 2013

August 9, 2013

July 7 @ Buffalo

July 13, 2008 @ Columbus

August 15, 2006 vs. Syracuse

2006

Brennan King Joe Thurston Michael Bourn

Shelley Duncan Kevin Reese

2008 Jason I ane

Nick Green

2009

Colin Curtis Chris Stewart Shelley Duncan

2010

Iesus Montero

2011 Kevin Russo

July 15 @ Toledo

2012 Cole Garner

2013 Cody Grice

Melky Mesa

Zelous Wheeler Rob Segedin

2015

Tyler Austin Austin Romine Ben Gamel

2016

Chris Parmelee Ike Davis Gary Sanchez Aaron Judge

2017

Eddy Rodriguez Billy McKinney

2018

Brandon Drury Billy McKinney

Billy Fleming Trey Amburgey Kyle Higashioka Breyvic Valera Mike Ford Zack Zehner Wendell Rijo Gosuke Katoh

April 15 vs. Lehigh Valley April 29 vs. Rochester May 5 @ Syracuse May 24 @ Syracuse June 9 vs. Syracuse July 19 vs. Louisville July 25 @ Columbus August 31 vs. Buffalo

Grand Slams, Season (2)

Steve Stanicek (1990): Sil Campusano (1991); Gary Alexander (1992); Mike Robertson (1997)

Grand Slams, Career (3)

Gene Schall; David Doster

REHABBING MAJOR LEAGUERS

1989

Marvin Freeman (P) Tom Nieto (C) Steve Ontiveros (P)

1990

Ricky Jordan (1B) Terry Mulholland (P) Dickie Noles (P)

1991

Danny Cox (P)
Darren Daulton (C)
Jason Grimsley (P)
Ron Jones (OF)
Steve Ontiveros (P)

1992

Andy Ashby (P) Tommy Greene (P) Mike Hartley (P) Ricky Jordan (1B) Jim Lindeman (OF) Ben Rivera (P)

1993

Todd Pratt (C)

PHILADELPHIA PHILLIES:

1994

Larry Andersen (P) Lenny Dykstra (OF) Tommy Greene (P) Dave Hollins (OF) John Kruk (1B) Ben Rivera (P) Curt Schilling (P) Kevin Stocker (SS)

1995

Toby Borland (P) Tommy Greene (P) Tom Marsh (OF) Bobby Munoz (P) David West (P)

1996

Mike Benjamin (SS) Gregg Jeffries (1B) Mike Mimbs (P) Bobby Munoz (P) Glenn Murray (OF) Curt Schilling (P) David West (P)

1997

Rob Butler (OF) Tyler Green (P) Rex Hudler (INF/OF) Ken Ryan (P)

1998

Ricky Bottalico (P) Yorkis Perez (P) Ken Ryan (P)

1999

Bobby Estalella (C) Tyler Green (P) Steve Montgomery (P) Tom Prince (C) Desi Relaford (SS)

2000

Jason Boyd (P) Jeff Brantley (P) Wayne Gomes (P) Curt Schilling (P)

2001

Dennis Cook (P) Rob Ducey (OF) Brian L. Hunter (OF) David Newhan (2B) Eddie Oropesa (P) Vicente Padilla (P) Randy Wolf (P)

2002

Dave Hollins (1B) Robert Person (P)

2003

Marlon Byrd (OF) David Coggin (P) Tyler Houston (3B) Hector Mercado (P)

2004

Vicente Padilla (P) Brian Powell (P) Placido Polanco (INF) Amaury Telemaco (P)

2005

Marlon Byrd (OF) Vicente Padilla (P)

2006

Chris Booker (P) Mike Lieberthal (C)

NEW YORK YANKEES:

2007

Roger Clemens (P) Jason Giambi (1B) Phil Hughes (P) Jeff Karstens (P) Doug Mientkiewicz (1B) Jose Veras (P)

2008

Wilson Betemit (INF) Brian Bruney (P) Sean Henn (P) Jeff Karstens (P)

2009

Brian Bruney (P)
Brett Gardner (OF)
Damaso Marte (P)
Jose Molina (C)
Xavier Nady (OF)
Cody Ransom (INF)
Chien-Ming Wang (P)

2010

Alfredo Aceves (P) Curtis Granderson (OF) Sergio Mitre (P) Chan-Ho Park (P) Marcus Thames (OF)

2011

Luis Ayala (P) Francisco Cervelli (C) Freddy Garcia (P) Alex Rodriguez (3B) Rafael Soriano (P)

201

Brett Gardner (OF) Andy Pettitte (P) David Phelps (P) David Robertson (P)

2013

Joba Chamberlain (P) Curtis Granderson (OF) Derek Jeter (SS) Ivan Nova (P) Michael Pineda (P) Alex Rodriguez (INF)

2014

Francisco Cervelli (C) Shawn Kelley (P) Michael Pineda (P)

2015

Dustin Ackley (OF) Chris Capuano (P) Slade Heathcott (OF) Andrew Miller (P) Ivan Nova (P) Michael Pineda (P) Jose Pirela (INF) Brendan Ryan (INF) Masahiro Tanaka (P)

2016

Conor Mullee (P) Chris Parmelee (1B) Chasen Shreve (P) Mark Teixeira (1B)

2017

Starlin Castro (2B) Garrett Cooper (1B) Jacoby Ellsbury (OF) Aaron Hicks (OF) Matt Holliday (OF) Gary Sanchez (C)

2018

Greg Bird (INF)
A.J. Cole (P)
Brandon Drury (INF)
Clint Frazier (OF)
Aaron Hicks (OF)
Tommy Kahnle (P)
Billy McKinney (OF)
Gary Sanchez (C)
Masahiro Tanaka (P)
Adam Warren (P)

2019

Thairo Estrada (INF)
Domingo German (RHP)
Didi Gregorius (INF)
Edwin Encarnacion (INF)
Ben Heller (RHP)
Aaron Hicks (OF)
Aaron Judge (OF)
Jonathan Loaisiga (RHP)
Cameron Maybin (OF)
Jordan Montgomery (LHP)
Gary Sanchez (C)
Luis Severino (RHP)
Giancarlo Stanton (OF)
Luke Voit (INF)

2021 Field Staff

SWB WEEKLY AWARD WINNERS

	BATTERS:	PITCHERS:
1989	Keith Miller (5/14 - 5/20)	Gordan Dillard (7/16 - 7/22)
1990	Keith Miller (8/26 - 9/3)	Jason Grimsley (4/15 - 4/22)
		Wally Ritchie (5/20 - 5/26)
		Jose DeJesus (5/27 - 6/2) Jose DeJesus (6/3 - 6/9)
1991	Rick Schu (8/4 - 8/10)	Andy Ashby (6/2 - 6/8)
1,,,1	Rick Schu (0/4 - 0/10)	Andy Ashby (6/21 - 6/27)
		Andy Ashby (8/11 - 8/17)
1992	Braulio Castillo (4/9 - 4/18)	Brad Brink (4/26 - 5/2)
	Tom Marsh (5/17 - 5/23)	Ben Rivera (7/19-7/25)
	Gary Alexander (5/31 - 6/6)	Mickey Weston (8/2-8/8)
	Todd Pratt (6/28 - 7/4)	Tommy Greene (8/23-8/29)
1993	Tom Marsh (5/2 - 5/8)	Tyler Green (8/22 - 8/28)
1004		Brad Brink (8/29 - 9/4)
1994		Bob Gaddy (4/17 - 4/23) Bob Gaddy (7/10 - 7/16)
1995		Bob Gaddy (7/10 - 7/16) Bobby Munoz (7/17 - 7/23)
1996	Glenn Murray (4/19 - 5/5)	Carlos Crawford (7/15 - 7/21)
1997	Tony Barron (5/5 - 5/11)	Scott Ruffcorn (5/26 - 6/1)
	Tony Barron (5/12 - 5/18)	Mike Grace (7/28 - 8/3)
	Mike Robertson (6/2 - 6/8)	
	Bobby Estalella (6/9 - 6/15)	
1998	Tony Barron (7/25 - 8/2)	Carlton Loewer (4/27 - 5/3)
		Ryan Nye (8/10-8/16)
1000	I 7h (4/26 - 5/2)	Ryan Nye (8/24 - 8/30)
1999	Jon Zuber (4/26 - 5/2)	Randy Wolf (4/8 - 4/18) Rad Rolton (4/26 - 5/2)
		Rod Bolton (4/26 - 5/2) Barry Johnson (6/7 - 6/13)
		Robert Dodd (8/23 - 8/29)
2000	Tomas Perez (5/22 - 5/29)	Evan Thomas (7/3 - 7/9)
2000	Jimmy Rollins (7/10 - 7/16)	27011 2110/1100 (7/2 7/7)
	Gene Schall (7/17 - 7/23)	
2001	Kevin Orie (7/23 - 7/29)	
2002	Johnny Estrada (5/6 - 5/12)	Brett Myers (4/22 - 4/28)
	Eric Junge (5/13 - 5/19)	
2003	Josh Hancock (4/21-4/27)	
	Josh Hancock (6/16 - 6/22)	
	Josh Hancock (8/11 - 8/17)	
2004	Jim Rushford (6/7 - 6/13)	
2005	Shawn Wooten (8/16 - 8/22)	
2005	Danny Sandoval (6/20 - 6/26) Shane Victorino (7/25 - 7/31)	
2006	Shane Victorino (8/8 - 8/14) Brennan King (7/10 - 7/16)	Cole Hamels (4/24 - 4/30)
2000	Dieman reng (7/10 //10)	Cole Hamels (5/1 - 5/7)
		Eude Brito (7/3 - 7/9)
		Brian Mazone (8/7 - 8/13)
		Jeremy Cummings (8/28 - 9/4)
2007	Shelley Duncan (4/5 - 4/15)	Steven White (6/25 - 7/1)
		Phil Hughes (7/23 - 7/29)
2008	Nick Green (8/25 - 9/1)	Darrell Rasner (4/21 - 4/28)
		Jeff Karstens (6/16 - 6/23)
		Darrell Rasner (4/21 - 4/28)
2009	Juan Miranda (4/9 - 4/13)	Sergio Mitre (7/6 - 7/13)
	Shelley Duncan (4/27 - 5/4)	Josh Towers (7/27-8/3)
2010		Josh Towers (8/17 - 8/24) Jonathan Albaladejo (7/5 - 7/12)
2010		Jonathan Albaladejo (7/12 - 7/12)
		Tim Redding (7/26 - 8/2)
		Jason Hirsh (8/2 - 8/9)
2011	Jorge Vazquez (4/11 - 4/17)	D.J. Mitchell (8/29 - 9/5)
	Jorge Vazquez (7/25 - 4/31)	
	Justin Maxwell (5/23 - 5/29)	
2012	Dewayne Wise (4/9 - 4/16)	Ramon Ortiz (5/21 - 5/29)
	Steve Pearce (5/7 - 5/14)	
	Russell Branyan (6/4 - 6/11)	
2013	Zolio Almonte (4/29 - 5/5)	Vidal Nuno (4/15 - 4/21)
	Melky Mesa (8/5 - 8/11)	Chien-Ming Wang (5/27 - 6/2)
2014	Ronnier Mustelier (8/19 - 8/25)	Person Mitchell (7/21 7/27)
2014 2015	Jose Pirela (5/26 - 6/1) Rob Refsnyder (5/11 - 5/17)	Bryan Mitchell (7/21 - 7/27)
2013	Cole Figueroa (5/11 - 5/17)	
	Greg Bird (8/3 - 8/9)	
	Ali Castillo (8/31 - 9/7)	
2016	Kyle Higashioka (6/6 - 6/12)	Jonathan Holder (8/22 - 8/28)
	Aaron Judge (6/20 - 6/26)	
2017	Dustin Fowler (4/24 - 4/30)	
	Jake Cave (7/17 - 7/23)	
	Billy McKinney (7/24 - 7/30)	
2018	Gleyber Torres (4/9 - 4/15)	
	Brandon Drury (6/11 - 6/17)	
2018		

INTERNATIONAL LEAGUE ALL-STARS

<u> </u>	MID-SEASON ALL-STAR:	POSTSEASON ALL-STAR:	Ť
1989	Keith Miller	. OSISEMBONNEE SIMM	
1990	Keith Miller	Todd Frohwirth	
	Bill Dancy		
1991	Steve Scarsone	2. 2	
1992	Steve Scarsone Rick Schu	Steve Scarsone Lee Elia	
1993	Tony Longmire	Tony Longmire	
	George Culver		
1994	Gene Schall		
	Mike Quade		
1995	Kevin Jordan David Tokheim	Kevin Jordan	
	Craig Strobel		
1996	Jon Zuber		
1997	Tony Barron	Tony Barron	
	Jon Zuber	Bobby Estalella	
1998	Bobby Eatalella		
1998	Bobby Estalella Calvin Maduro		
1999	Jon Zuber		
2000	Gary Bennett	Gary Bennett	
	Marlon Anderon	Marlon Anderson	
	Marc Bombard	W + 0 +	
2001	Kevin Orie B. Duckworth	Kevin Orie B. Duckworth	
	P.J. Forbes	P.J. Forbes	
	Nelson Figueroa	,,	
	Eric Valent		
2002	Joe Roa *	Joe Roa	
	Johnny Estrada Nick Punto	Johnny Estrada Nick Punto	
	Peter Zamora	David Doster	
	Teter Patriota	Marlon Byrd	
		Marc Bombard	
2003	Travis Chapman	Chase Utley	
	Ryan Madson		
	Chase Utley Marc Bombard		
2004	Lou Collier		
	Jim Crowell		
	Dan Giese		
2005	Jim Rushford Chris Coste	Shane Victorino	
2006	Joe Thurston	Joe Thurston	
	,	Carlos Ruiz	
		John Russell	
2007	Shelley Duncan	Shelley Duncan	
2008	Jim Brower Dave Miley	Dave Miley	
2009	Zach Kroenke	Kevin Russo	
	Chris Stewart	Shelley Duncan	
	Austin Jackson		
	Shelley Duncan	7 4 49 1 1	
2010	Jonathan Albaladejo Jesus Montero	Jonathan Albaladejo Jesus Montero	
	Eduardo Nunez	Eduardo Nunez	
2011	Adam Warren	Jorge Vazquez	
2012	Juan Cedeno	Dave Miley	
2013	Chris Bootcheck		
2014	Thomas Neal Jose Pirela		
2014	Kyle Roller	Ben Gamel	
	Austin Romine		
2016	Ben Gamel	Ben Gamel	
	Chad Green	Aaron Judge	
	Aaron Judge Gary Sanchez	Gary Sanchez Donovan Solano	
2017	Dustin Fowler	Tyler Wade	
	Caleb Smith	,	
2018	Cody Carroll		
	Brandon Drury	D W.D	
2019	Mike Ford	Ryan McBroom	
	J.P. Feyereisen Ryan McBroom		
	Kyle Higashioka		

2021 RailRiders

INTERNATIONAL LEAGUE MVPS



SHANE VICTORINO – 2005

Shane Victorino became the fist Scranton/Wilkes-Barre player to win the International League's Most Valuable Player Award in 2005. At mid-season he was not even named to the All-Star team. However, a strong second half propelled him to the league's highest honor and a place on the post-season All-Star team. Overall he finished 6th in batting (.310), 2nd in runs (93), 1st in triples (16), 2nd in total bases (264), 5th in extra-base hits (59), 5th in slugging (.534) and 8th in OBP (.377). In addition he slugged 18 HR and drove in 70.



SHELLEY DUNCAN - 2009

Shelley Duncan became the second Scranton/Wilkes-Barre player and first Yankee to win the award for his outstanding 2009 season. Duncan established a new franchise record by clubbing 30 home runs. He led the International League in home runs, RBI (99), extra-base hits (61), runs scored (85) and total bases (247). All this despite missing 20 games due to multiple big league callups. This combined with mid-season and post-season all-star selections made Duncan's 2009 season one of the best in franchise history.



BEN GAMEL - 2016

Ben Gamel became the third Scranton/Wilkes-Barre player and first RailRider to win the award after an All-Star-caliber performance in 2016. The Neptune Beach, Fla. native owned the circuit's sixth-best batting average (.308) and finished fourth in the IL with 149 hits. He led the league with 80 runs scored to go with 26 doubles, five triples, six home runs, 51 RBI and led the team with 19 stolen bases. Gamel was the International League Rookie of the Year in 2015.

HOME & SERSON OPENERS

HOME OPENERS:

YEAR	DATE	OPPONENT	SCORE	WIN	LOSS	SAVE	ATT.
1989	4/26	Tidewater	L 9-2	Whitehurst	Martin	Edens	10,958
1990	4/6	Rochester	L 6-3	M. Jones	Freeman	Tirado	9,247
1991	4/15	Pawtucket	W 9-4	Ruffin	Manzanillo		9,235
1992	4/9	Syracuse	W 7-6	Ayrault	Linton	Chapin	7,223
1993	4/8	Richmond	L 9-0	Birkbeck	Brink		8,625
1994	4/7	Columbus	L 7-4	Ojala	Dunne	Quirico	6,227
1995	4/10	Norfolk	W 4-1	Springer	Telgheder	Innis	6,675
1996	4/4	Ottawa	L 2-1	Bullinger	Wieghandt	Pachecho	5,394
1997	4/3	Richmond	W 9-5	Nye	Woodall		6,376
1998	4/13	Syracuse	L 4-3	Romano	Nye	Johnson	6,777
1999	4/8	Pawtucket	W 7-0	Wolf	Pena		5,537
2000	4/6	Rochester	L 6-3	Towers	Shumaker		6,268
2001	4/5	Ottawa	L 4-3	Bridges	Thomas	Scanlan	8,050
2002	4/8	Buffalo	W 7-4	Roa	Drew	Zamora	8,001
2003	4/3	Ottawa	L 5-4	Carrasco	Telemaco	Garcia	12,117
2004	4/14	Buffalo	L 7-4	Guthrie	Jimenez		3,723
2005	4/8	Norfolk	L 7-4	McGinley	Giese	Bell	4,711
2006	4/14	Norfolk	L 6-4	Fortunato	Sanches	Bell	5,113
2007	4/5	Norfolk	L 7-5	Green	Beam	Doyne	10,310
2008	4/3	Lehigh Valley	W 4-0	Igawa	Нарр		8,381
2009	4/17	Rochester	W 11-0	Hughes	Santos		8,266
2010	4/8	Buffalo	W 1-0	Melancon	O'Connor	Albaladejo	6,511
2011	4/13	Buffalo	L 4-0	Mejia	Phelps		3,637
2012*	4/14	Syracuse	W 6-3	Warren	Duke	Eppley	3,928
2013	4/4	Pawtucket	L 8-4	Wilson	Miller		8,443
2014	4/10	Syracuse	W 7-2	Burawa	Tatusko	Montgomery	6,870
2015	4/9	Syracuse	W 8-3	Rumbelow	Rivero		7,493
2016	4/7	Rochester	L 3-0	Kintzler	Green	Graham	10,000
2017	4/10	Lehigh Valley	W 2-0	Cessa	Appel	Frieri	11,515
2018	4/8	Syracuse	W 6-5	Feyereisen	Smith		9,327
2019	4/11	Buffalo	W 9-8 (10)	Coshow	Law		10,000

SEASON OPENERS:

YEAR	DATE	OPPONENT	SCORE	WIN	LOSS	SAVE	ATT.
1989	4/6	@ Rochester	L 3-1	Schilling	Dillard	Huisman	4,322
1990	4/6	Rochester	L 6-3	M. Jones	Freeman	Tirado	9,247
1991	4/10	@ Syracuse	W 9-2	Ruffin	Guzman		3,969
1992	4/9	Syracuse	W 7-6	Ayrault	Linton	Chapin	7,223
1993	4/8	Richmond	L 9-0	Birkbeck	Brink		8,625
1994	4/7	Columbus	L 7-4	Ojala	Dunne	Quirico	6,227
1995	4/7	@ Rochester	L 7-3	McGehee	Ilsley		7,775
1996	4/4	Ottawa	L 2-1	Bullinger	Wieghandt	Pachecho	5,394
1997	4/3	Richmond	W 9-5	Nye	Woodall		6,376
1998	4/9	@ Ottawa	W 5-1	Loewer	Boskie		3,400
1999	4/8	Pawtucket	W 7-0	Wolf	Pena		5,537
2000	4/6	Rochester	L 6-3	Towers	Shumaker		6,268
2001	4/5	Ottawa	L 4-3	Bridges	Thomas	Scanlan	8,050
2002	4/4	@ Ottawa	L 1-0	Blank	Myers	Cubillan	3,114
2003	4/3	Ottawa	L 5-4	Carrasco	Telemaco	Garcia	12,117
2004	4/8	@ Ottawa	L 2-0	Borkowski	Hancock	Cubillan	2,650
2005	4/8	Norfolk	L 7-4	McGinley	Giese	Bell	4,711
2006	4/6	@ Columbus	L 13-1	Henn	Davis		8,218
2007	4/5	Norfolk	L 7-5	Green	Beam	Doyne	10,310
2008	4/3	Lehigh Valley	W 4-0	Igawa	Нарр	'	8,381
2009	4/9	@ Lehigh Valley	W 11-3	Claggett	Borkowski		10,000
2010	4/8	Buffalo	W 1-0	Melancon	O'Connor		6,511
2011	4/7	@ Lehigh Valley	L 7-2	Worley	Phelps		9,255
2012	4/5	@ Lehigh Valley	L 3-0	Cloyd	Delcarmen	Schwimer	9,722
2013	4/4	Pawtucket	L 8-4	Wilson	Miller		8,443
2014	4/3	@ Syracuse	W 4-1	Billings	Rosenbaum	Daley	6,661
2015	4/9	Syracuse	W 8-3	Rumbelow	Rivero		7,493
2016	4/7	Rochester	L 3-0	Kintzler	Green	Graham	10,000
2017	4/8	@ Buffalo	L 4-2	Grube	Barbato	Darnes	7,418
2018	4/8	Syracuse	W 6-5	Feyereisen	Smith		9,327
2019	4/4	@ Buffalo	L 8-3	Waguespack	Gonzalez		12,898

SCRANTON/WILKES-BARRE RAILRIDERS FIRSTS

SWB FRANCHISE FIRSTS

AB:	David Adams	April 4, 2013	vs. Pawtucket
Hit:	Corban Joseph	April 4, 2013	vs. Pawtucket
Run:	Corban Joseph	April 4, 2013	vs. Pawtucket
RBI:	Melky Mesa	April 4, 2013	vs. Pawtucket
2B:	David Adams	April 4, 2013	vs. Pawtucket
3B:	Melky Mesa	April 16, 2013	@ Rochester
HR:	Melky Mesa	April 8, 2013	vs. Rochester
BB:	Zolio Almonte	April 4, 2013	vs. Pawtucket
K:	Dan Johnson	April 4, 2013	vs. Pawtucket
SB:	Dan Johnson	April 4, 2013	vs. Pawtucket
CS:	Melky Mesa	April 5, 2013	vs. Pawtucket
HBP:	Melky Mesa	April 7, 2013	vs. Pawtucket
E:	Zolio Almonte	April 4, 2013	vs. Pawtucket
Win:	vs. Ryan Pope	April 8, 2013	vs. Rochester
Loss:	vs. Jim Miller	April 4, 2013	vs. Pawtucket

SCRANTON/WILKES-BARRE RED BARONS FIRSTS

AB:	Kevin Bootay	April 6, 1989	@ Rochester
Hit:	Ron Salcedo	April 6, 1989	@ Rochester
Run:	Matt Cimo	April 6, 1989	@ Rochester
RBI:	Tommy Barrett	April 6, 1989	@ Rochester
2B:	Greg Legg	April 7, 1989	@ Syracuse
3B:	Steve Stanicek	April 8, 1989	@ Syracuse
HR:	Al Pardo	April 14, 1989	@ Rochester
BB:	Kevin Bootay	April 6, 1989	@ Rochester
K:	Tommy Barrett	April 6, 1989	@ Rochester
SB:	Kevin Bootay	April 7, 1989	@ Rochester
CS:	Matt Cimo	April 6, 1989	@ Rochester
HBP:	Al Pardo	April 6, 1989	@ Rochester
E:	Gordon Dillard	April 6, 1989	@ Rochester
Win:	vs Rochester	April 14, 1989	@ Rochester
Loss:	vs Rochester	April 6, 1989	@ Rochester



ATTENDANCE HISTORY

\ YEARLY ATTENDANCE

YEAR	TOTAL	DATES	AVERAGE	
1989	445,000	57	7,807	
1990	545,844	66	8,270	
1991	546,533	68	8,037	
1992	560,454	68	8,242	
1993	542,558	68	7,979_	
1994	476,053	66	7,212	
1995	489,040	68	7,192	
1996	458,033	64	7,156	
1997	441,410	65	6,897	
1998	406,735	67	6,071	
1999	439,171	68	6,458	
2000	458,584	65	7,055	
2001	452,007	70	6,457	
2002	460,596	70	6,580	
2003	427,445	66	6,476	
2004	402,676	65	6,195	
2005	400,726	70	5,725	
2006	376,284	68	5,534	
2007	580,908	66	8,802	
2008	485,999	68	7,147	
2009	*358,888	58	6,188	
2010	338,731	68	4,981	
2011	298,098	65	4,586	
2012#	272,168	69	3,944	
2013	435,839	68	6,409	
2014	401,618	68	5,906	
2015	402,731	70	5,753	
2016	424,991	70	6,071	
2017	439,412	68	6,462	
2018	386,819	63	6,140	
2019	414,891	65	6,383	
TOTAL	13,312,860	1,997	6,583	

Lehigh Valley

LARGEST BY TEAM

LARGEST HOME CROWDS

TEAM Buffalo Charlotte Columbus Denver Durham Indianapolis Iowa Lehigh Valley Louisville Nashville OKC Omaha Ottawa Pawtucket Richmond Rochester Syracuse Norfolk/Tidewater Toledo	TOTAL 11,045 11,502 12,092 10,050 12,048 10,016 10,417 11,515 10,544 9,515 10,100 10,081 12,241 12,257 12,142 11,300 11,647 11,637 11,432	July 4, 2006 June 13, 1996 July 4, 2004 August 3, 1990 May 14, 2004 May 24, 2000 June 26, 1990 April 10, 2017 July 14, 1990 June 15, 1991 May 20, 1990 August 4, 1990 July 4, 2002 July 4, 2002 July 24, 1992 July 24, 1993 July 5, 1996 June 12, 1993	DATE 1 July 4, 2003 2) July 4, 2002 3) June 7, 1992 4) April 3, 2003 5) July 4, 2004 6) May 14, 2004 7) August 22, 1992 8) July 20, 1994 9) July 25, 1992 10) July 4, 1992	TOTAL 12,257 12,241 12,142 12,117 12,092 12,048 11,914 11,714 11,659 11,647	OPPONENT Pawtucket Ottawa Richmond Ottawa Columbus Durham Richmond Ottawa Pawtucket Syracuse
--	---	---	--	---	--

^{*} Includes 23,282 for four home games played away from PNC Field # Spent season on road due to renovations to PNC Field. Home games were played at Rochester (37 games), Syracuse (10), (8), Batavia, NY (7), Buffalo (6), Pawtucket (4)

2021 RailRiders

SCRANTON/WILKES-BARRE PLAYERS OF THE YEAR

ORGANIZATIONAL AWARDS

	<u>HITTER</u>	<u>PITCHER</u>		<u>HITTER</u>	PITCHER
1989	Tommy Barrett	Wally Ritchie	2006	Carlos Ruiz	Brian Mazone
1990	Keith Miller	Todd Frohwirth	2007	Shelley Duncan	Matt DeSalvo
1991	Rick Schu	Andy Ashby	2008	Juan Miranda	Kei Igawa
1992	Rick Schu	Jay Baller	2009	Shelley Duncan	Zach Kroenke
1993	Victor Rodriguez	Kyle Abbott	2010	Jesus Montero	Jonathan Albaladejo
1994	Gene Schall	Robert Gaddy	2011	Jorge Vazquez	D.J. Mitchell
1995	Shawn Gilbert	Chuck Ricci	2012	Tyler Austin*	Mark Montgomery*
1996	Jon Zuber	Carlos Crawford	2013	Greg Bird	Shane Greene
1997	David Doster	Darrin Winston	2014	Rob Refsnyder	Luis Severino
1998	Marlon Anderson	Calvin Maduro	2015		
1999	Torey Lovullo	Darryl Scott	2016	Aaron Judge	
2000	Gary Bennett	Evan Thomas	2017	Miguel Andujar	Domingo Acevedo
2001	P.J. Forbes	Brandon Duckworth	2018		Michael King
2002	David Doster	Joe Roa	2019		Deivi García
2003	Chase Utley	Geoff Geary			

INTERNATIONAL LEAGUE MANAGER OF THE YEAR

*Beginning in 2012, the Yankees announced one MiLB player of the

year, as opposed an award for each affiliate.

1992:	Lee Elia	2007:	Dave Miley
2002:	Marc Bombard	2012:	Dave Miley*
2006:	John Russell	2016:	Al Pedrique
		2017:	Al Pedrique

Eude Brito

Jim Crowell/Dan Giese

BASEBALL FEVER TENTH MAN AWARD

2003:	Geoff Geary	2007:	Angel Chavez
2004:	Buzz Hannahan	2008:	Chris Stewart
2005:	Shane Victorino	2009:	Eric Duncan
2006:	Ryan Fleming	2010:	Zack Segovia

^{*2010} was the final year the Baseball Fever Tenth Man Award

SCRANTON/WILKES-BARRE COMMUNITY SERVICE AWARD

2000:	Evan Thomas	2006:	Ryan Fleming
	Fausto Tejero	2007:	Ben Kozlowski
2001:	Thomas Jacquez	2008:	Nick Green
2002:	Geoff Geary	2009:	Mark Melancon
2003:	Travis Chapman	2010:	Zack Segovia
	Greg Kubes	2011:	Eric Wordekemper
2004:	Greg Kubes		

Shane Victorino *Award ceased after the conclusion of the 2011 season

INTERNATIONAL LEAGUE BATTING CHAMPION

2005: Danny Sandoval (.331)

2005:

2004

2005

Lou Collier

Shane Victorino

INTERNATIONAL LEAGUE MONTHLY AWARD

2001:	RHP Brandon Duckworth (July)
2016:	OF Aaron Judge (June)
2017:	OF Jake Cave (July)
2018:	RHP Michael King (August)

^{*}Named 2012 MiLB Manager of the Year by Baseball America

MISCELLANEOUS ACCOMPLISHMENTS

CONTRIPLE PLAYS

DATE	OPPONENT	TEAM BATTING	RATTED	SEQUENCE	
DAIL	OFFONLINI	ILAM DAI IING	DATTEN	JEQUENCE	
6/5/1997	@Norfolk	Norfolk	Chris Saunders	L6-6-3	
6/8/2019	Syracuse	SWB	Mike Tauchman	L3-3-5	

The only triple play turned by Scranton/Wilkes-Barre in team history occurred June 5, 1997 at the Norfolk Tides. In game two of a doubleheader, singles by Wes Chamberlain and Phil Geisler put runners on first and second. Chris Saunders then hit a soft liner to shortstop Desi Relaford who stepped on second doubling up Chamberlain then threw to first to complete the triple play.

SWITCH-HIT HOME RUNS

On April 23, 1998 at Rochester, Darren Burton became the first Scranton/Wilkes-Barre player to switch-hit home runs (homer from both sides of the plate) in the same game. In the third inning, he hit a solo shot off righty Joel Bennett, then in the ninth inning, he connected for a three-run blast off lefty Vince Horsman. Burton remains the only player in SWB franchise history to accomplish the feat.

SEVEN+ RBI IN ONE GAME

9 Mark Budzinski July 25, 2004 vs. Toledo 8 Wendell Magee May 13, 1999 @ Norfolk Brennan King July 14, 2006 vs. Toledo 7 Phil Geisler August 12, 1995 vs. Pawtucket

Phil Geisler August 12, 1995 vs. Pawtucke Wendell Magee June 28, 1997 vs. Pawtucket Mike Robertson Zoilo Almonte July 23, 2014 @ Gwinnett Kyle Higashioka May 5, 2019 @ Syracuse

CYCLES

Jon Zuber	May 1, 1997	@ Columbus
Brennan King	July 14, 2006	vs. Toledo
Ramon Flores	April 9, 2015	vs. Syracuse
Dustin Fowler	April 30, 2017	vs. Indianapolis

NO-HITTERS

Jeremy Cummings	September 3, 2006	@ Rochester
Ben Rivera	July 25, 1992	vs. Pawtucket (7-Inning)
Tyler Green	July 4, 1993	vs. Ottawa (7-Inning)
Robert Ellis	June 6, 2004	vs. Louisville (7-Inning)

1-HITTERS

Pat Combs	August 19, 1989	@ Pawtucket
Andy Ashby	July 22, 1991	vs. Richmond
John Burgos	August 16, 1991	vs. Columbus
Brett Myers	April 25, 2002	vs. Toledo
Chad Green	July 14, 2016	@ Gwinnett

MISCRLLRNEOUS HISTORY

ALL-TIME YANKEES NO. 1 DRAFT PICKS

					NO. 1 DRAFT PICK	
YEAR	ROUND	SELECTION		POSITION	SCHOOL (STATE)	W/NYY IN MLB
2020	1	28	Austin Wells	C	University of Arizona	
2019	1	30	Anthony Volpe	2B	Delbarton School (NJ)	
2018	1	23	Anthony Seigler	C	Cartersville HS (GA)	
2017	1	16	Clarke Schmidt	RHP	University of South Carolina	2020-Present
2016	1	18	Blake Rutherford	OF	Chaminade College Prep HS (CA)	==
2015	1	16	James Kaprielian	RHP	UCLA	
	1	30	Kyle Holder	SS	University of San Diego	
2014	2	55	Jacob Lindgren	LHP	Mississippi State University	2015
2013	1	26	Eric Jagielo	3B	University of Notre Dame	
	1 1	32 33	Aaron Judge	CF LHP	Fresno State University	2016-Present
2012	1	30	Ian Clarkin	RHP	James Madison HS (CA)	
2012	Comp A	51	Ty Hensley Dante Bichette, Jr.	3B	Edmond Santa Fe HS (OK) Orangewood Christian HS (FL)	
2010	1	32	Cito Culver	SS	Irondequoit HS (NY)	
2009	1	29	Slade Heathcott	OF	Texas HS (TX)	2015
2009	1	28	Gerrit Cole	RHP	Orange Lutheran HS (CA)	Did not sign
2007	1	30	Andrew Brackman	RHP	North Carolina State University	2011
2006	1	21	Ian Kennedy	RHP	University of Southern California	2007-09
2005	1	17	Carl (C.J.) Henry	SS	Putnam City HS (OK)	
2004	1	23	Phil Hughes	RHP	Foothill HS (CA)	2007-13
2003	1	27	Eric Duncan	3B	Seton Hall Prep (NJ)	
2002	2	71	Brandon Weeden	RHP	Santa Fe HS (NM)	
2001	1	23	John-Ford Griffin	OF	Florida State University	
	1	34	Bronson Sardinha	INF	Kamehameha HS (HI)	2007
	1	42	Jon Skaggs	RHP	Rice University	
2000	1	28	David Parrish	С	University of Michigan	
1999	1	27	David Walling	RHP	University of Arkansas	
1998	1	24	Andrew Brown	OF	Richmond HS (IN)	
	1	43	Mark Prior	RHP	University HS (CA)	Did not sign
1997	1	24	Tyrell Godwin	OF	East Bladen HS (NC)	
	1	40	Ryan Bradley	RHP	Arizona State University	1998
1996	1	20	Eric Milton	LHP	University of Maryland	
1995	1	27	Shea Morenz	RF	University of Texas	
1994	1	24	Brian Buchanan	OF	University of Virginia	
1993	1	13	Matt Drews	RHP	Sarasota HS (FL)	
1992	1	6	Derek Jeter	SS	Kalamazoo Central HS (MI)	1995-2014
1991	1	1	Brien Taylor	LHP	East Carteret HS (NC)	
1990	1	10	Carl Everett	OF	Hillsborough HS (FL)	
1989	2	45	Andy Fox	3B	Christian Brothers HS (CA)	1995-97
1988	4	105	Todd Malone	LHP	Casa Robles HS (CA)	
1987	3	81 53	Bill Dacosta	RHP LHP	New York Tech	
1986 1985	2	28	Rich Scheid Rick Balabon	RHP	Seton Hall University	
1984	1	28	Jeff Pries	RHP	Conestoga HS (PA) UCLA	
1983	4	93	Mitch Lyden	C	Beaverton HS (OR)	==
1983	2	36	Tim Birtsas	LHP	Michigan State University	
1702	2	50	Bo Jackson	SS	McAdory HS (AL)	Did not sign
1981	2	52	John Elway	OF	Stanford University	
1980	3	74	Billy Cannon, Jr.	SS	Braodmoor HS (LA)	Did not sign
1979	2	51	Todd Demeter	INF	Grant HS (OK)	
1978	1	18	Rex Hudler	SS	Bullard HS (CA)	1984-85
1977	1	23	Steve Taylor	RHP	University of Delaware	
1976	1	15	Pat Tabler	OF	McNicholas HS (OH)	
1975	1	19	Jim McDonald	1B	Verbum Dei HS (CA)	
1974	1	12	Dennis Sherrill	SS	South HS (FL)	1978, '80
1973	1	13	Doug Heinhold	RHP	Stroman HS (TX)	
1972	1	14	Scott McGregor	LHP	El Segundo HS (CA)	
1971	1	19	Terry Whitfield	OF	Palo Verde HS (CA)	1974-76
1970	1	12	Dave Cheadle	LHP	Asheville HS (NC)	
1969	1	11	Charlie Spikes	OF	Central Memorial HS (LA)	1972
1968	1	4	Thurman Munson	C	Kent State University	1969-79
1967	1	1	Ron Blomberg	1B	Druid Hills HS (GA)	1969, '71-76
1966	1	10	Jim Lyttle	OF	Florida State University	1969-71
1965	1	19	Bill Burbach	RHP	Wahlert HS (WI)	1969-71

 $^{^{\}star}$ Bold indicated played for SWB under NYY Affiliation, not including during MLB rehab stints.

MISCALLANEOUS HISTORY

NEW YORK YANKEES ALL-TIME TRIPLE-A AFFILIATES

LEAGUE
ailRiders International League/Triple-A East League
International League
Pacific Coast League
International League
International League
International League
American Association
International League
Pacific Coast League
American Association
International League

^{*}The New York Yankees operated two Triple-A clubs in the 1946-49, 1951, 1953, and 1956-58 seasons.

100 YEARS (...AND COUNTING) OF RAILRIDERS BASEBALL

The International League franchise that eventually became the Scranton/Wilkes-Barre RailRiders is one of the oldest franchises in the circuit, with its first season of play coming in 1919. The RailRiders franchise has relocated nine times and played home games in two countries before settling into a home in Northeast Pennsylvania in 1989.

YEARS	TEAM NAME	CITY	AFFILIATION
2013-Present	Scranton/Wilkes-Barre RailRiders	Moosic, PA	New York Yankees
2007-12	Scranton/Wilkes-Barre Yankees	Moosic, PA	New York Yankees
1989-2006	Scranton/Wilkes-Barre Red Barons	Moosic, PA	Philadelphia Phillies
1988	Maine Phillies	Old Orchard Beach, ME	Philadelphia Phillies
1984-87	Maine Guides	Old Orchard Beach, ME	Cleveland Indians (1984-86)
			Philadelphia Phillies (1987)
1971-83	Charleston Charlies	Charleston, WV	Pittsburgh Pirates (1971-76)
			Houston Astros (1977-79)
			Texas Rangers (1980)
			Cleveland Indians (1981-83)
1955-1970	Columbus Jets	Columbus, OH	Kansas City Athletics (1955-56)
			Pittsburgh Pirates (1957-70)
1952-54	Ottawa Athletics	Ottawa, Ontario, Canada	Philadelphia Athletics
1951	Ottawa Giants	Ottawa, Ontario, Canada	New York Giants
1937-50	Jersey City Giants	Jersey City, NJ	New York Giants
1933-36	Albany Senators	Albany, NY	N/A
1923-32	Reading Keystones	Reading, PA	N/A
1921-22	Reading Aces	Reading, PA	N/A
1920	Reading Marines	Reading, PA	N/A
1919	Reading Coal Barons	Reading, PA	N/A

SWB IN THE MLB ALL-STAR FUTURES GAME

Each season since 1999, Major League Baseball, in conjunction with the 30 Major League Clubs, MLB.com and Baseball America, select the 25-man rosters for the AL and NL (formerly U.S. Team and the World Team) in the annual All-Star Futures Game. Players from all full-season minor leagues are eligible to participate. The players listed below represent a list of players who appeared in the MLB All-Star Futures Game and played with Scranton/Wilkes-Barre before their MLB debuts.

YEAR	PLAYER, POS. (TEAM)	YEAR	PLAYER, POS. (TEAM)
2019	RHP Deivi Garcia (AL)	2007	RHP Joba Chamberlain (U.S.)
2018	RHP Domingo Acevedo (World)	2006	RHP Phil Hughes (U.S)
2017	RHP Domingo Acevedo (World)	2005	OF Melky Cabrera (World)
2016	C Gary Sanchez (World)		RHP Scott Mathieson (World)
2015	OF Aaron Judge (U.S.)	2004	RHP Gavin Floyd (U.S.)
	C Gary Sanchez (World)	2003	RHP Gavin Floyd (U.S.)
2014	RHP Luis Severino (World)		INF Ryan Howard (U.S.)
2013	None	2002	OF Marlon Byrd (U.S.)
2012	OF Tyler Austin (U.S.)		RHP Brett Myers (U.S.)
2011	C Austin Romine (U.S.)	2001	RHP Brett Myers (U.S.)
2010	C Austin Romine (U.S.)		INF Chase Utley (U.S.)
	RHP Hector Noesi (World)	2000	None
2009	LHP Manny Banuelos (World)	1999	OF Pat Burrell (U.S.)
2008	C Jesus Montero (World)		
	INF Ramiro Peña (World)		
124	2021 Scranton/Wilkes-Barre RailRiders Media C	Guide Triple-A, New	York Yankees www.swbrailriders.com



September 3, 2019: The Miracle at Montage

The Scranton/Wilkes-Barre RailRiders and Syracuse Mets finished the 2019 regular season with identical 75-66 (.536) records, which tied the teams for first place in the IL North. This triggered a single tie-breaking game played on Tuesday, September 3 at PNC Field. The winner of the game would advance to the playoffs, while the loser's season was over.

Syracuse jumped on SWB starter Adonis Rosa for five runs (two earned) in the top of the first inning. Rosa lasted only 0.2 innings, and lefty reliever Joe Mantiply allowed a run in 2.1 innings as the Mets led 6-0 after three innings. Kyle Higashioka got the RailRiders on the board in the bottom of the fourth with an RBI double, and Deivi Garcia settled things down with 3.0 scoreless innings of relief. Syracuse extended its lead to 7-1 in the top of the seventh against Brady Lail, setting the stage for the first epic comeback of the day.

Mets starter Ervin Santana had allowed just one hit all day, but Higashioka started the seventh with a towering home run to left field. Three straight singles loaded the bases and Syracuse summoned Nick Rumbelow from the bullpen. Zack Zehner singled to score two runs, then Brandon Wagner collected an RBI single, and Billy Burns walked to re-load the bases. In came Stephen Nogosek, who hadn't allowed a run all year with Syracuse. He coaxed a double play from Mandy Alvarez, but a run scored and the RailRiders trailed 7-6.

In the top of the eighth Syracuse exploded for its second big inning of the day, rallying for six runs against Lail, David Hernandez and Danny Coulombe to extend its lead to 13-6. The bottom of the eighth began with another Higashioka home run. Three batters later, the bases were loaded and the Mets brought in Brooks Pounders. A Zehner sacrifice fly cut the lead to 13-8. Wagner and Alvarez each collected RBI singles, and Breyvic Valera brought in a run with a sacrifice fly to make it a 13-11 game. Eric Hanhold replaced Pounders and promptly unloaded a wild pitch to plate Burns and cut the lead to 13-12. With runners on second and third, Erik Kratz doubled to center field to score Alvarez and pinch-runner Terrance Gore to put SWB ahead 14-13. Ben Heller saved the game with a 1-2-3 top of the ninth and the RailRiders shocked the Mets to be crowned IL North Champions.

